	Fiche ……
	Connaissance des nombres
	Ca6

	
	Puissances de nombres relatifs
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(Entraînement 1 : Calcule 
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( - 2 ) 3 = ……… ( ……… ( ……… 

           = …………
	( - 5 ) 2 = ……… ( ………  

            = …………

	( - 1 ) 4 = ……… ( ……… ( ……… ( ……… 

            = …………
	( - 4 ) 3 = ……… ( ………  ( ………  

            = …………

	( - 5 ) 3 = ……… ( ……… ( ………  

            = ………
	( - 10 ) 5 = ……… ( ………  ( ………  ( ……… ( ………
              = ……

	( - 2 ) 4 =  ………  ( ………  ( ………  ( ………  

            = ………
	( - 2 ) 6 = …… ( ……  ( ……  ( ……  ( ……  ( ……

     = ………

	( - 17 ) 1 =  ……   

             = ………
	0 5 = …… ( ……  ( ……  ( ……  ( ……  

     = ………

	(Entraînement 2 : Calcule 
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10 3 =  - ………… ( ………… ( ………… 

           = ………
	- 3 3 = …………… ( …………… ( ……………   

     = ………

	- 2 4 =    ………… ( ………… ( ………… ( ………… 

           = ………………
	- 5 2 = ………… ( …………  ( …………  

     = ………

	 - 10 2 = ………… ( …………  

        = ………………
	- 1 4 = ………… ( ………  ( ………  ( ………

     = ……

	- 1 5 =  ………… ( …………( ………… ( ………… ( …………        

       = ………………
	- 2 5  = ……… ( ………( ………( ………( ………  

       = ……

	
	

	(Entraînement 3 : Calcule 

	( - 8 ) 2  = 
	- 10  2 =
	( - 9 ) 2 =

	( - 2 ) 3 = 
	- 2 2 =
	 - 2 4 =

	( - 10 ) 4 = 
	- 10 2 =
	( - 10 ) 6 =

	( - 4 ) 1 = 
	- 4 2 =
	- 10 3  =

	0 3 = 
	- 1 7 =
	( - 1 ) 10  =























 ( - 3 )2 


= ( - 3 ) ( ( - 3 )


= + 9





- 3 2 


= -  3  (  3 


= - 9

















Puissances











( - 5 ) + ( - 4 ) = - 9 








3 2 = 3 ( 3 


    = 9


        


10 4 = 10 ( 10 ( 10 ( 10


      = 10000


               


( - 2 ) 4 


= ( - 2 ) ( ( - 2 ) ( ( - 2 ) ( ( - 2 )


= + 16














Puissance d’un nombre











( - 5 ) + ( - 4 ) = - 9 
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